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1. WOENH & NCERT = Hfaufe wew -
(1) e LR F R (NIE) 74 feet
(2) o TR A% gEYH (NIE) a3
(¢) e gwore T e TSR S BT T (PSSCIVE) Wi
4) Foo ST 35 WrRYA (RIE) SR |
This is not a constituent unit of NCERT :
(1) National Institute of Education (NIE) New Delhi
(2) National Institute of Education (NIE) Mumbai

(3) Pandit Sundarlal Sharma Central Institute of Vocational Education (PSSCIVE) Bhopal
(4) Regional Institute of Education (RIE) Ajmer

2. W e T GRAUiE Susera (PURA) Gt Groiotel TE SR o ¢
(@) Iw wmmsd AT giaw suftr S smoarrg Haten wEer Syes F.
(b) TR = A e Fmio Free 9% g1 w0 8 R wef .
(c) TSI SRR AT I EIOI=A Sieh @ ST Yo A %0,
(d) TSR Agerar fHH w.

FhodEt won faur/foum et amd/ e ?
(1) R (d) ) () 3T ()
(3) (), (b) 3 (c) @ gt Tl

Main objectives of Providing Urban Amenities in Rural Areas (PURA) scheme is :

(a) - To providing opportunity civic amenities and life sustaining opportunities in Rural
Areas. ' | ‘

(b) To bridge the gap between the Urban-rural development and to co-ordinate.
() To reduce the percentage of migration from rural to urban areas.

(d) To develop the political leadership.

Which of the above statement(s) is/are incorrect ?

(1) Only (d) ) (b)and (0)

(3) (a), (b)and (c) (4} All of the above
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3. 2UM T GYR I TEguaEnt I ST BT, qiee St S arefaet | g .
1) A gfEd 2) unfo famwa
(3) wmIfSE =™ 4) <ifEe fee
Land reform measures were initiated in the country is for achieving the twin objectives
first is increasing agricultural production and second is
(1) Social change (2) Rural development
(3) Social justice (4) Poverty removal
4. TG TSTOE=N FO9 21(NTIR To4F To0 FIVA THIRIS qoi 3%, qer=n
farggomen sfeehR W o IR 2
1) 1% 14Tm= 2 614 T
(3) 1718 FaRE (4) 53714 TR
As per the article 21 (A) of the Indian Constitutions every state has provided the right of
free and compulsory education. Which of the following age groups ?
(1) 1 to 14 age group (2) 6to14 age group
(3) 1to 18 age group (4) 5 to 14 age group
5. WOEIH] HIvE HRO/FERY WG GEEA FrEiFR 7R | ?

(a) oTea WiawTEd FHARET T@R S,

(b) AR U,

(c) @ anfor weniafa FvgmEE gy,

qafdt 39T

1) (a), (b) four dr7 onde. (2) (a), (b), (c) oM dr= em%a |
3) (c) faum drg am, @) (@), (c) TauR 97 e,

Which of the following factor/factors state the importance of the human resource
planning ?

(a) Creating highly talented personnel.

(b) International strategies.

() Resistance to change and move.

Answer options : |

(1) (a), (b) statements are correct. (2) (a), (b), (c) statements are correct.

(3) (c) statement is correct. (4) (), (c) statements are correct.
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6. WOHSTE! st FEt e St St A aka ?
(@) yfT dIFEER gew HeTETee SR 91E S,
(b) T AR FREGTIT TTE HIT,
(c) ol IUTE 1B HI,
(d) T FamEER i w9t 7 werm fFEm et gan faee ggda faam

U,
T Hor faum/ faum g /e ?
(1) = (a) (2 (@ W ()
3) () W (d) @) =otE @

Which of the following are the objectives of the Pradhan Mantri Krushi Sinchai Scheme ?
(a) To increase the micro irrigation sector through modern technology.

{b) To increase the water utility efficiency.

(¢) To increase the agricultural production.

(d) To develop the micro irrigation method through modern technology to increase the
agricultural and horticulture development.

Which of the statement(s) given above is/are incorrect ?

(1) Only (a) (2) (a)and (9

(3) (b)and (d) (4) None of the above

7. WA WA e frare g e gat e S A awet g fagons o
T . W STIEE 1985 WA Hivrean g fammdier s e ?
(a) FETUS TR HERTEY g femdie
by 3 it i e fawme
(c) T TRy WA T R e
(d) e e feamdts
et oM T W 37/ 3R ?
(1) ¥ (a) (2) FH (b) (3) (a) 30 () (4) w wd
Indian government has undertaken the work of distance education in order to addressing

the problems of formal education. Accordingly which of the following Open University
has established in 1985 ?

{a) Yashwantrao Chavan Maharashtra Open University

(b) Indira Gandhi National Open University

(c) Lal Bahadur Shastri National Open University _

(d} Central Open University

Which of the above option(s) is/are correct ?

(1) Only (a) (2) Only (b) (3} (a) and (¢} (4) All above
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8. 2005 "= ¥n R giea sasRraTat TR Foea UEF §19 SR o] T9@ Fhama o
T w0 ?
() o srgerfea Seeri SR H9R .
(b) Tamm snfor shenfiertomen wememen fasme =,
(€ S Hude Heyin Jeded T HeRAe S U I,
() St nfor ST foRREIEt WETE 'R S,
(e} T AfUF & NEFATATEIS TER T WK HT0.

FStH! HUR fauE,/ faun wET o/ o ?
(1) (), (b) 3T (d) (2) (a), (b) 3 (o)
(3) (b}, (c), (d) 3T (e) (4) e wd

Which of the following criteria was focused on by the National Knowledge Commission
under the Presidentship of Sam Pitroda in 2005 ?

(a) To sanction the grant of non-aided institutes,

(b} To develop the science and industrial laboratories.

(c} To improve in institutional organization with regards to inteBectual riches.

(d) To use knowledge for agriculture and industrial development.

(e} To provide maximum benefits to the people by publicity and spread.

Which of the above statement(s) is/are correct ?

(1) (a}, (b) and (d) (2} (a), (b} and (c)
(3} (b), (c), (d} and (e} (4} All above
9. () 2017-18 T VGEIA WA 2.1% T HHI AO TS VRAY e T W
A BT,
(I) 2017-18 7L GDP FIA THAW 6.75% THa qeao.
SR HUT AU/ ST ST/ A ?

(1) v faym (1) s o,

(2) v faym (1) SO TR,

3) faum (1) sfor faum (1) =R omRa.

(4) faum () sofor foum () TR oA

(I) Indian Economy faced challenges due to low growth rate of agriculture in 2017-18
at 2.1%.

(f&f) GDP Growth reached to 6.75% in the year 2017-18.

Which of the above statemaent/s is/are correct ?

(I} Statement (I) is correct only.

(2) Statement (II) is correct only.

(3) Both statements (I} and {II} are correct.

(4) Both statements (I} and (II} are incorrect.
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10. ‘' ARMY RUS Fee I fEEr ST oo AwE TR W Wi, sHAfas 3 g gt
T A I RS ?
(1) ween T4 (2) THE WK
(@) AW gs (4) <TIfEE ST HEe

Who said, “Health is a place of complete Physical, Mental and Social well being and not
merely the absence of disease of informity” ?

(1} Mahatma Gandhi (2) Herbert Spencer
(3) Thomas Wood (4) World Health Organization

11, =@ 3 frureds wm (wfady o foe) gurda sfufm 2016 s .

(a) 14 3 GOIS TG T I 0 WHFE FEWEE TR T FAE Ay SR

() 14 ¥ 18 FETeRS finadiT arowm dkEE Haad A JoretHed HEER a0 '
FIeERT T

(6) o e W 6 Higd ¥ 2 Fnivda giramr faan fEm 220 50 T e €T
fehan S,

(d) TR T weard fwae 1 3 5 ety gErara o S

FwE! SR faum,/ faur et o ?

(1) w (b) @ W ()

(3) ahedw! A (4) FE (d)

Under the child and adolescent workers (Prevention and Regulation) Improved Regulation
2016 :

(a) All children under the age of 14 years are prohibited to work in any business and
processing units.

(b) It is criminal offence to put juvenile children in the age group of 14 to 18 years in
hazardous occupation and procedures.

(c) For this offence is punishable for 6 months to 2 years imprisonment or fine of
¥ 20 to 50 thousand or both.

(d) Imprisonment for repetition of offence would be at least 1 to 5 years.
Which of the above statement(s) is/are incorrect ?

(1) Only (b) (2) -Only (o)

(3) None of the above (4) Only (d)
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12. arEfaa wrdren Yaeiae UF SO0 FH Wrage AreEl FHoRd] M SmEet o 2
(1) TSR A Ft Fsite A
(2) . IS SwgE FH EEwe e
(3) . IETHRE HiHEH FN WEGET Al
(4) WHTES FH EESHT A
By which of the name is the scheme that was launched for the farmers of scheduled tribes
known as :
(1) Nanaji Deshmukh Krushi Sanjivani Yojana
(2) Dr. Panjabrac Deshmukh Krushi Swavalamban Yojana
(3) Dr. Babasaheb Ambedkar Krushi Swavalamban Yojana
(4) Pradhan Mantri Krushi Swavalamban Yojana
13. farar decanfawe w v 1R

(a) TorramaE faeums & w1 o o o foeemamme 3fta .
(b) ToruTTTR S T HEq Soae B

(c) VI FAVER Hhi1 YET= AMTEA §eqS TN,

(d) foeadio Fe T Headt § TEd TREeE w0 B0,

GAH! I T YT/ RS 3B/ 18 ?
(1) HF (c) (2) T (a)
(3) (a), (b) 3O () (4) aledE A

Some important issues regarding the concept of displacement :

(a) Displacement for development means development inspires displacement.

(b}  The earlier life of the people gets destroyed due to displacement.

(c) By the government system the people are displaced from their previous place.
(d) Displaced people have to adjust with new social life and environment.
Which of the above option(s) is/are incorrect ?,

(1) Only () ) Only (@) |

(3) (a), (b) and (c) (4) None of the above
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14, IR 2000 W SEHTE e YRS dEEER e F 2

(@) iR ITETen EREE! W @ gevE SeHie fawe #,

(b) &7 2010 T THW YT T YFAER H0,

(c) 72045 Tq feor Srereiwren sgur Frd! w0,

(d) W= Taamwe™ =9 21 98 %,

Tafdt 39y ; _
1) (@), b @ © @
(3) T () @) Ftrotw wd

What is the long term objective of India’s Population Policy 2000 ? _

(a) To develop health and basic structure of it as a remedy for pregnancy prevention.
(b} To reduce birth rate to ‘0" level till 2010.

() To achieve the objective of stability in population till 2045.

(d) - To fix the marriage age of girls as 21 years.

Answer options :

1) (@), ©) @ © @

(3) Only (c) (4) All of the above °

15. WWMWW%@WWW?

(a) VR T HY Here ) TR T frare Ew

(€) WA Hoeh AT (@) e e .

ST FIUE/HOQ T FAAT 3N/ A ? |

H @ O @FE G 60T @ wHew
Which of the following the non-government organization working in the field of Health ?
(a) Indian Redcross Society (b) Hind Kusht Nivaran Sangh

(c) Bharat Sevak Samaj' (d) Kasturba Memorial Fund

Which of the option(s) given above is/are correct ?

(1) Only (a) (2) (a) and (c) 3) (b} (c)and(d) (4 All above
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16.

10 A

I T Joaist HIMIE 1994 HH8 HI0RET G W9 Sivam el 2

(a) Ifgs YRAE dAfaem gfieg

() T e S e e

(c) &4 (RUSA)

(d) @ foem SR

FTUHT HIA 14T WREC R/ T 2

1) T (o) (2) TH (b) (3) (o) ¥ (d) (4) =0 wd
Which of the following institute was established in 1994 for evaluation of higher
education ?

(a) All India Council for Technical Education

(b} National Assessment and Accriditation Council

(cy RUSA

(d) Directorate of Higher Education

Which of the above option(s) is/are correct ?

(1) Only (c) (2) Only (b} (3) (¢} and (d) (4) Al above
17. S 9fee T feoies oo Svame 9N ARRTrIe v mare e ?
(1) TEER (2) feaEER
(3) = (4) TeTUTEGY
Which of the following villages in Maharashtra has been honoured as the first smart
digital village in India ?
(1) Hissar _ (2} Hivarebazar
(3) Harisal ' (4) Ralegan Siddhi
18, Gt Fow faym/T 9rg /a7

(a) UTHIY SRS famra @ A frei SuRol Fvars e e e,
(b) IFFI FWOG SATIRRNST e 787 H4,

(c) TEFRT ToEei= Grg (A Hed FrEeHa qRefaraE w1 e 1.
qgidt 39T :

1) (@ ®) (2) % (b) 3 @ © (4) wF (a)

Which one of the following statement/s is/are not correct 7

(@) It is a function of NABARD to raise funds for the development and research in
Rural Sector.

(b) NABARD helps the farmers for International trade.

(c) Function of NABARD is to reconstruct the co-operative societies in order to make
thermn more efficient.

Answer options :

1) (a) &) (2) Only (b) @ @ © (4} Only (a)

el HIATATE AT / SPACE FOR ROUGH WORK
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19. 9 2012-13 | 2015-16 M WERTE WM TeH WEAE 0¥ THL Il HekHl S §e
I SR Ao (MJPJAY) T Teraet R f I T99 @0 3781 F0t ?
(1) 2340 PR (2) 2345 FEt (3) 2350 H& (4) 2355

How many crore of rupees paid for Mahatma Jotiba Phule Jan Arogya Yojna (MJPJAY) as
premium subsidy to a private health insurance company from 2012-13 to 2015-16 by
Government of Maharashtra ?

(1) 2340 crore (2) 2345 crore (3) 2350 crore (4) 2355 crore

20, SUETE IS TIEG Y HEAT TIOSTE RO 98 WRIEE IR ?

(a) STVETEr HEw (b) THAEH
(c) = fawm weew srfyerd (d) = g AR
TSt HIvE T ST AR/ ST 2

(1) (@), @) () ) () A (c) (3) (@), @) () (4) Few

Which of the following posts are included in the administrative structure of Aanganwadi
Scheme ?

(a) Aanganwadi warker (b) Supervisor

(c) Child development project officer (d) Child health officer

Which of the above option(s) is/are correct ?

(1) @ @and(d () (and()  (3) (), () and() 4 Allabove

21, N SFEEA FAHE 2017 TAR FET=A1 YR 301 =7 Jien SwsE agea SUTER YR
B SPTIS Walli Y SehHeia 291 FUH e A1 SRUATet HTegd] S0t J6ig AR ?

(1) 2025 2) 2040 (3) 2024 (4) 2050

As per the ‘world population prospects : 2017, at the present rates of population growth
of India and China, by which year is India likely to overtake China as the world’s most
populous country ?

(1) 2025 (2) 2040 (3) 2024 4) 2050
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22.

12 A

R ygEH oTidw fifenrd gurraet € owe a0, 91 e
(a) wige YEiis TRitafier 7@ FoaaE Jo T 9 I,

(b) urfifF T & el .

(c) waTSN YR ST WS Sk WSlal HLam.

(d) RER Jvr Aofis AR B WS F.

FaeIH! F fauE, faum qere Ty A ?

(1) = (b) (2) (b) ¥ ()

(3)  (a), (b) 3 () (4) =t T

Migration mainly happen to improve the economic condition. Along with this factor :
(a) Original place is been left to beat up the natural adverse conditions.
(b) Migration due to religious persecution.

(c) People of continuous war affected countries migrate.

(d} People also migrate due to continuous natural calamities/ disaster.
Which of the above statement(s) is/are incorrect ?

(1) Only (b) (2)  (b) and ()

(3) (a), (b) and (c) (4) None of the above

23.

Wﬁmwmmzmmsa 1948 & IO TEET TG
ELi

(a) T siew fomme den

(b) ST FTRALT Fow dFe A

(c) SIS TR HE

(d) ST SARFE AU GEeA

FAGHT U TA15 SR TR/ 3T ?
(1) %K (a) (2) (a) 3 (c)
3) (a), (b) 3™ (d) (4) wYH AR

Which of the following organization was established in 1948 to protect the health of people
at higher level all over the world ?

(a) Swedish International Development Agency

(b) United Nation’s International Children Emergency Fund
(c) World Health Organization

(d) World Health Care Organization

Which of the above option(s) is/are incorrect ?

(1) Only @ (2 (@ and ()

(3) (a), (b) and (d) (4) None of the above
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24, RG THRA A Aifas defslt wrEwTEEd AR SRl wrHE &
(1) 1 R, 2011 (2) 30 A=, 2015
(3) 1 IHER, 2016 (4) 26 FEER, 2017

Govt. of India has taken decision to start injection immunization of polio programme
along with oral polio since

(1) 1%t November, 2011 (2) 30th November, 2015
(3) 1% January, 2016 (4) 26" February, 2017

25. 3.9 1978 7 WWAe eIz 48 Woe ST qiiyda I Uresie] | wat|rat SRra’
T HEHETO ST Worods FIVR =R wige ?

(@) O ARFG SFTe T

®) sy i

() R TF g AR

(d) Mm@ dafsew sfusn

Fhetat HIUR TaiT THET R/ R ?

(1) % (a) (2) - (a) 3nfw (b) 3) (a), @) AT () (4 TR (d)

Which of the thoughts were put forward in the international conference organized in
Almata, Russia in 1978 regarding the concept of ‘health for all’ ?

(@) Peoples Health in Peoples Hands
(b) Health for All

() Health a Fundamental Right

(d) Health is a Personal Right

Which of the above option(s) is/are correct ?

(1) Only (a) @ @and®) () (a) @ and(9 (@) Only(d)
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26. wwmﬁmﬁgaﬁaﬂﬁﬁmﬁmm%’
(@) wizgeE S Foawd.
(b) T FHIET I AGTTUATRAL.
() FTHSEE FEGAT T HUET TS AIFRA.
(d) wT=™ T T e TP,

TTAHT v e/ faum wier s/ emed ?
(1) (@) o0f (g 2 (a), () 3 ()
(3) = T (4) =S wd

Which of the following importance of Human Resource Development ?
(a) To create the capital.

{b) To increase the Level of Human Intelligence.

{c) To increase the capacity and skills of Human Resources.

{d) To upgrade the confidence and approach of the Humans.

Which of the statement(s) given above is/are correct ?

(1) (@) and (0) 2 (@), () and (o)

{3) None of the above (4) Allabove

27. 1 9, 2015 AT vawu™ A fHe 9o (PMGSY) §F FRUGERTE 369
(@) TV I IYA SHA TR FIOL
(b) IO TR FHH HIW,
(c) IETd SIUHTET SR FHT HI.
(d) arft = dgE o fae o] w1 it ST amefa.
FEH! HIvr faur/fam? w0ET SR/ sRe ?
M OEOITD @ @O (3) (@b (@) Fow
The objectives behind starting the Pantpradhan Gram Sinchayi Yojana on 1%t July 2015 :
{a) To create land suitable for farming in the country.
(b) To reduce the wastage of water.

{c) To reduce the usage of water in farms.

{(d) To increase the crop productivity by implementing water saving technology and
irrigation.

Which of the above statement(s) is/are correct ?
(1) (b)(and(d) (2) (a)and (b) (3) f{a) (b)and () (4) Allabove

e A JAFT /SPACE FOR ROUGH WORK
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28. MW (ASHA) % St FrEfwdl @roeist wiowr faswm demeiata e wwam e ?
(a) UIES T fam P (ICDS)
(b) wIfrR arftor T wEwE (IRDP)
(c) I I AR fawe (IRHM)
() T T TR free (NRHM)

Tttt wiom Taia STET s/ omea ?
(1) 92 (a) 2) ¥S ()
3) (a), () 3afer (d) @) (@), (b), (c) 3nf (d)

Accredited Social Health Activist (ASHA) was appointed under which of the following
development schemes ?

(a) Integrated Child Development Schemes - ICDS

(b) Integrated Rural Development Programme - IRDP

(c) Integrated Rural Health Mission - IRHM

(d) National Rural Health Mission - NRHM

Which of the options(s) given above is/are correct ?

(1)  Only (a) (2) Only (d)

(3) @ (c)and (d) (4) (@), (), () and (d)

29. zmemwmmmmmmmmmmaﬁ
WIGBIH HIA FROT AT ?

(1) 1000 S=IHM e Fie=T I 30 Ta Wt A

(2) dfms wHle

(3)  2,00,000 Sifaw SR HaT Tafaet 2 100 T4y @ S

@) = godds WM Fa Javae Fam seeatavarss deaeT 30

Which is not a measure listed by National Population Policy to achieve a stable population
by 2046 ?

(1) Reduction of infant mortality rate below 30 per 1000 live births

(2) Universal immunisation

(3) Reduction of maternal mortality rate to below 100 per 2,00,000 live birth
(4) Incentive to adopt two child small family norms

THoAT /AR AT /SPACE FOR ROUGH WORK
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30. VI faraToTTt el URUARIET AU 95 HET SUHTHIS! TH. ST 31, -1, 9, 3. -T2 =
TS FI0H e (Fatrs) famita % o ?
(1) TIH |Y G faww (2) W AR
(3) foen stfigam (4) wTE shEE
Which portal has been developed to improve and reform the quality of school education
and co-ordination among the NGO-CSR-State ?
(1) Sabka Sath Sabka Vikas (2) Shala Sarthi
(3) Shiksha Abhiyan (4) Literacy Abhiyan

31. 2016-17 ¥ FEA WUFHS U WSF AT FAid WEAR TH a6t FroEHa
f. . = i = .
(1) 25,000 (2) 17,500 (3) 47,350 (4) 15,000
In the year 2016-17, under the Pradhan Mantri Gram Sadak Yojna, Govt. has made
km roads in the span of one year.

(1) 25,000 (2) 17,500 (3) 47,350 (4) 15,000
32, GEEYROTge refiear et % WM ¥ v WA ST,
(1) 50 (2) 60 (3) 70 (4) 80
Generally more than % epidemic diseases occured due to contiminated water.
1) 50 2) 60 (3) 70 (4) 80

33. () 2018-19 =41 SSEH 17 YR HFEE 1600 FUS TUH BUAW TS,
(1)  2018-19 = T 3T Wisha1 WATGATS T9IE U FHAVAT TS,
ot FIo fayH/ faum atet AR 2
(1) R fuE (1) T R
(2) wE faum (1) SR o).
(3) = faum (1) swfor (11) =R oA,
(4) R faum () enftn () THIA smRa.
(I) In the budget 2018-19 allocation for the ministry of food processing is 1600 crore.
(II) Allocation for the ministry of food processing has been doubled in the budget
. 2018-19. | '
. Which of the above statements is correct ?
(1) Statement (I) is correct only.
~ (2) Statement (II) is correct only.
._ (3) . Both statements (I} and (II} are correct.

(4) Both statements (I) and (II) are incorrect.
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34. 1994 =91 ) RUST Faw DFEEATE T JE DT T A S WHASYE! o g
NI 3091 3 ? |

(a) FEw Frdrm (b) T

(c) T s () FEE SFER

TG T TG WA S/ oA ?

(1) (a) SN (b) 2 @) |
(3) () ™ (d) (4) O

Which of the following factors were given importance apart from the population growth
in the Cairo Summit 1994 ?

(a) Family Planning (b) Fertility Health

{c) Gender Equality (d) Population Size

Which of the above option(s) is/are correct ?

(1) () and (b) (@) (b)and (9

(3) {a)and (d) (4) None of the above

35. WYE SRRG GEeAE (WHO) 1951 7% $3a Friere fte ¥es s=fman /= @ :
() TH TS T T TR IS T B A, |
(b) B TieTaviRE SR Rz a0,
(c) 3T I T4, qOIE T | Arg FEY T,
(d) Farie gort ge fiive wo € iR
(e) firw forerw WA w9,

Tetet He faam/ Hun 'iew o/ eme ?
(1) FH (a) A (b) 2) TR (a) A (c)
(3) (a), (), (c) A (d) (4) = wf SUER A

The only aim of World Health Organization in 1951 was not only to control the birth rate
through family planning but also :

(a) To avoid non-required births and to allow the required births.

(b} To have control between two pregnancies.

{c) To maintain proper relation between the age of parents and the childs birth.
(d) To fix the number of children in the family.

(e) . To provide sex education.

Which of the above statement(s) is/are correct ?

(1) Only (a) and (b) (2) Only (2) and ()

(3) (a), (b), (c) and (d) (4) Al of the above are correct
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36. WEISTH! AFE GanE farR o 3fie ema ?

(a) WIS WHIATE! HEWH IYET FT0,

(b) FE FEHATSE] AT wTE T,

(c) ™ FHAW T FHUR Fi FEin e,

(d) TS FHEEE [ES! W,

FHER! Hiont T/ faum sERe o/ o ?
(1) ™R () 2) (o) 3nfm (d)
(3) (a) 300 (d) () ey A

Which of the following are the objectives of Human Resource Development ?
(a) To utilise maximum human resource.

(b) To increase the eligibility in human resource.

(c) To create capable employees and workers.

(d) To provide capable emplovees.

Which of the above statement(s) is/are incorrect ?

(1) Only (¢ (2) (9 and (d)

(3} (a)and (d) - (4) None of the above

37.  SOEaUD HEdl QEA -FH voamed 7 freRe Aigen w@iE  I9Ed U9 o S Serdies 2
(1) werey it (2) . TRTEE
(3) vfed ST e (4) ST e

The recommendation of Balwantray Mehta Committee in three tire system was named as
“Panchayat Raj” by :

(1} Mahatma Gandhi (2) Dr. Rajendra Prasad
(3) Pandit Jawaharlal Nehru (4) Balwantray Mehta

THEAT HIATETS 9T /SPACE FOR ROUGH WORK
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38, fameat= <t Foarm =l Sae IR, @ WEHi (@ I faure s enea ?
(a) TTEEA TETaty sraee fameate Fom e ST Sm.
(b) Tarenzaion wfeR FveEn &9@ FF9 = ATEYH FWQ,
(c) Toeneaten swar Yuen wivwal STIEHEE RT & TR,
(d) Frereatadie o sufn fawm o o Fha w0
ot Fo faur/faym afeT s/ emea ?
(1) ¥ () (20 ¥ b) G) (2 @) (@) (4) e e
Which of the following statements are true regarding aptitude test of the student ?
(a) Mostly aptitude test taken for 10% class students.
(b) To guide the students to choose the correct career.
(c}) To understand to abilities of the students in the appropriate curriculum.
(d) To focus on the quality and development of the students.

Which of the statement(s) given above is/are correct ?
(1) Only (a) (2) Only (b) () (a) (b)and (d) (4) Allabove

39. WOEYE! FR WS AR faee HaeErs I SRy S ?
(@) g Ffnr dior SefE.
(b) Heaforr Feertan = gawa,
(c) oTfds Tom gH= wTwi=n Meomis Zn arefao,
(d) STy faemdtei= Teerd =,
(e) wreaf foaomaEt AT o= FI.
alevs! o faurm/ favm sET s/ e ?
(1) (o) Toum == o,
2) (a) 3nfor (b) Faum sA=7 amRa.
3)  (a). (b), (c) U (d) Taem s amda.
@) (@), (b), (c) F (e) FAT TR 37aa.
Which of the following is/are the objectives of Human Resource Development Ministry ?
(a) To decide the National Education Policy.
(b} To upgrade the standard of educational insttutes.
(¢) To increase the percentage of economically backward classes in education.
(d) To seek the co-operation of International Universities.
(e} To provide fellowships for secondary education.
Which of the statement(s) given above is/are correct ?
(1) (a) is correct statement. _
(2) (a) and (b) are correct statements.

(3) (a), (b), (¢} and (d) are correct statements.
4) (a), (b), (c) and (e) are correct statements.
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40. T=EA1 HifEd € T WO 9% 290 @EY W9 Fedr, T T Wesds! |l

i Greafauar= TR 42 THREET 5 3N AT T,

(1) 50 (2) 60 (3) 55 (4) 63

After launching post swachhata campaign it took form of public movement due to which,
the access regarding sanitation and services rate increased from 42 percentage to
—_ ____ percentage.

(1) 50 (2) 60 (3) 55 (4) 63

41, WHOIH! FIOG! Ao ATGHRIE ST HATER, FOHER Y e goen ames vt Teoea=
TG 9 SURra FOEE! g€ St 308 ?
(1) T = At S
(2) 2T a=st, 9 vgred A
3) wndd e
(4) e e
Which of the following schemes has been started for the purpose of rehabilitation of and
financial assistance to the victims of child abuse, rape and acid attacks ?
(1) Majhi Kanya Bhagyashree Yojana
(2) Beti Bachao-Beti Padhao Yojana

(3) Manodhairya Yojana
(4) Jeevanonnati Yojana

42, 15 AR, 1979 It & FSTA YWY JAHEET T TSR W0 FRFAEEIT oot
FIvR faura/faym aRET omy e ?
(a) TETEEE® 18 I 35 THZRIS JaF T
(b) TEEL/TE.I. Y TR AGSS S I
(c) Tgra site far dreren 9 Aig=r g {of FOw s I,
(d) THURE Fieea TN Farie JIHT HIvEE JEs 7T TE.
it I+ :
(1) (a), (b) 2 @@ = @ @ @@ @) (a). ®) (), (d)

Which of the following is/are correct statement(s) regarding the Training of Rural Youth
for Self Employment (TRYSEM) which was started on 15% August, 1979 7

(a) The Youth Below Poverty Line (BPL) aged between 18 and 35 years of age are eligible.
(b) Person of SC/ST category is eligible.

(c) A person who has completed 9 months National Adult Education Programme is

eligible.

(d) No condition of educational qualification for the youth belonging to traditionally
skilled families. :

Answer options :

1) (@) 0 2) () @ @) @@ @ @ 6@
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43. EEEEE IRFEREHIO R YA GGG SV G gE Sor 3R 7
(1) R ENE (2) T3 g Ao
(3) W FEEF I (4) Trafe oTem Ao
Which of the following schemes has been started by the Maharashtra government for the
livelihood of devdasis ?
(1) Swadhar Yojana (2) Rajya Gruha Yojana
(3) Matrutwa Sahayog Yojana (4) Nirvah Anudan Yojana
44. GHBYH! FUR TEw ' ATHIGd IEN 9 TR IRGAF 99 TEAm (FF gk Anga) Atufay

2006 T1 Saia SnfEaTEiT JUAr A SR ?

(a) waufas wafewdy aagFde S T S AE

(b) Frciz FHITS IEHATE! AT, HWeheH, aTR 9 facdare aEvarn AfawR
(c) IS A Tevardr SHFER

(d) IRIE IYEETRE SRR Y9 gE v SieR

a9y ;
1) () 3t () () (a) A ()
(3) (a), (b) Ffw (o) ¢4) Fhetw wd

Which of the following are granted as a right to tribals under ‘The Scheduled Tribes and
Other Traditional Forest Dwellers (Recognition of Forest Rights) Act, 2006 ?

(a) Right to cultivate forest land to the extent under occupation

(b) Right to own, collect, use and dispose of minor forest produce

(c) Right to reside inside forests

(d) Right to carry out traditional customary practices like cattle grazing etc.
Answer options :

(1) () and () (a) and (b)

(3) (), (b) and (¢} (4) All of the above
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45. WoE faumitE! SR WET g ?
(@) 1985 ¥ AL qarEd v WG HIoAR TS,
(b) 1986 = TSR a1 YN0 Hhivie fowmg wfoeomar s 3R
(€) TFF FHeA FEFRAR THTF A A=) T g,
i I
(1) (@), ®) AW (@) (2) FHF () (3) R (0) (4)  (b) 3T ()
Which of the following statements are correct ?
(a) 1985 was announced as International Youth Year.
(b) National Youth Policy 1986 emphasizes skill development training.
(c) ‘National Service Scheme’ is included in Youth Welfare Programme.
Answer options :
(1} (@), (P)and () (2) only (a) (3) only () (4) (b) and (c)
46. T faamomd wew -
(a) =X A=A TSfaramEt
(b) I fawEEE

() WHE FEATEN e FBU LIS

(@) Tafaum s e T wweTm |t

sliede! wIvA faum/faum eere ot/ snia ?

(1) w5 () ) @efr®) () (@), b)) 4) () ()
Importance of value education :

(a} To develop the character of a person

(b) For attitude development

{c) To provide new direction to human behaviour

(d} To achieve national integration in a country with diversity

Which of the above statement(s) is/are incorrect ?

(1) Only (b) (2} (a) and (b) 3) fa) (P and(d) (4) (d)and(d)
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GBS I e ' Afer’ 71 wieet 7 qoreEt §E Fown qema Taedr s 2

(a) fForeagst (b) T TuEA
(c) SAFERFHE faeret w9 (d) THTEYH
THSH FIU TatT S R/ R ?

(1) W (a) (2} (b) f(Q)
(3)  (a) & (o) (@ ot T

Which of the following facilities are being provided in ‘Asmita’ scheme for women and
girls ?

(a) Scholarship (b)  Sanitary napkins
{c} Interest free loan for business (d) Counselling
Which of the above option(s) is/are correct ?

(1) Only (a) (2) (b) and ()

(3) {a) and {c) (4) None of the above

VA YT TaEhTEE AR SeTeeRl TE feS a2 searast e s Syesy Soet
TRod A FF 7

(1) TS - sdw 2) TSt - AHAeEs

(3) TASLAR. - 3L 4) TASLIN, - ST

What is the name of portal made available by NITI Ayog to the Non-Governmental
Organisations which are plaving important role in the development of India ?

(1) NGO - DARPAN (2) NGO - ONLINE

(3) NGO - UPDATE (4) NGO - DEVELOPMENT

49. VEHa s19m Wede fametn difiew, Wafen, o 3 Toe oMer A2 U RIUAIERAIal

HERTE I * S0 ezl w0 T8’ Greieum! Hoed (Sl g8 FIm 8 ?

(a) Hema A Ay (b) Hem fa. iR

() wHiETY A, aoer (d) wizes fa. T

TG HIMT/ B0 Ta SRET ST/ 2T ?

(1) % (o) (2) (a) ¥ () 3 (@@ @ o

For the purpose of providing balanced, fresh and tasty food to Government Ashram schools
students, Government of Maharashtra has introduced the ‘Annapurna Madhyavarti
Swaimpak Gruha’ in which of the foliowing places ?

(a) Mundhegao Dist. Nashik (b) Satana Dist. Gadchiroli

{c) Kambalgao Dist. Palghar (d) Dhandhalgao Dist. Gondiya

Which of the above option(s) is/are correct ?

(1) Only () (2) (a) and (c) (3) (c) and (d) (4) All the above
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50, GO 94 TIFHE IONE wET O gE SR SR’ ¥ T g 9 4R Wt

M

(a) T a1 S HRdHH (b) o iR
(c) Te®garHe (d) I Fen Frn
yafet 3T

1) @ O I @ @), ©Id @) @06 A @ Hew

‘Rashtriya Yuva Sashaktikaran Karyakram’ (RYSK) is a Umbrella Scheme with following
components :

(a) National Young Leaders Programme (b) Youth Hostel

(c) Nehru Yuva Kendra {d) National Service Scheme

Answer options ;

(1) @ ®and@d @ O, Qand(d ) (@) B)and) (@) Allthe above

51. THMEG fafqy Yeohgd e THRIEv $6 AN, @i TSSO ey 5@ R,
=it

(@) ¥ (b) W

() wwga fm (d) TS W
OO I/ FIA THTT RET S/ ?

(1) i (d) (2) W (b)

(3) alwad (@) =S T

An individuals socialization is undertaken by various ways in the society. They are
called as agencies of socialization. Among them :

(a) Family (b) School

(c) Peer group (d) Means of communication
Which of the above option(s) is/are incorrect ?

(1) Only (d) @ Oonyp)

(3) Al the above (4) None of the above
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52, VAW 1975 {w Foraion Iea@iie [@e 900 980 ¢
(a) Foal TG ST SRS FIe.
(b) 73 = W s fEa e fase.
(c) TP Tt Toaien faurea faai 33% ARe far.

wafdt w6y : |
(1) (a), (b) fau™ 97 aEa. () T (b) faum dra o
(3) @), () faum drg . (8) w (o) Taum 3 o,

After 1975 following changes occurred due to women’s movement in India :
() Women became aware about their political rights.

() Women got reservation according to 737 Constitutional amendment.
(c) Women got 33% reservation in Lok Sabha and State Assemblies.
Answer options ;

(1) (a), (b) are correct statements (2) Only {b) is correct statement
{3) (b), (c) are correct statements (4) Only (c) is correct statement

53. ‘U fReit e HRiEm, 2014 1 Y w1 gl ?
(a) Toruir =i weomet drerem,
(t) IEH THeSaR HHTawk TaN TRay I,
(©) gfaw snurfia Samsd a1g FE STYR 2.
(d) ST Feew, THd SR, FEEF AR, g2 RETTR qE W7

qqidt I9Y ;
1) (a) 37 (b) ) (o) 3t (d)
@) ) (o =t (d) 4) (), (b), (c) MM (d)

What was the purpose of ‘Rashtriya Kishor Swasthya Karyakram, 2014’ ?
(a) Reach out to adolescents.

(b) Introduce peer-led intervention at community level.

{c) Support by augmentation of facility based services.

(d) Focus on life skill, nutrition, mental health and substance abuse.
Answer options :

(1) (a) and (b) (2) () and (d)

(@) () () and (d) @) (2, (b), (0 and (d)
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WRATE! ST 2011 AT STFSARIER WO Ish! Shiord] T9a18 (5 §IRT) 319 o SHm
aifye a7 ?

(1) dfv=d sme (2) feew

(3) I He (4) T W2

According to 2011 census of India figures which of the following states has highest {per
thousand) infant mortality ?

(1) West Bengal (2) Bihar
(3) Uttar Pradesh (4) Madhya Pradesh

55.

HRAT RO AGHEN Y@ SR A1 ' Ssquastt’ (WHO) 7 IR el 3. @l T8
FOT FRONET e IEHATHR & THAF IR 01 39T 8 Sew 3 ?

(1) T, Faa R A9R, Sfaaw, ae, =gt

(2) Faea ToR[E SR, e, =gEiEn, A, met

(3) =gEITan, AaeE e s, Py, e, e

(4) Tas e R, Fue, stfaew, e, =gEfE

WHO has listed the major causes of Child Mortality in India. In terms of the gravity and
severity of causes; which descending sequence of the ones given below is correct ?

(1) Malnutrition, Neonatal causes, Diarrhoeal diseases, Measles, Pneumonia.
(2) Neonatal causes, Malnutrition, Pneumonia, Diarrhoeal diseases, Measles.
(3) Pneumonia, Neonatal causes, Malnutrition, Diarrhoeal diseases, Measles.

(4) Neonatal causes, Malnutrition, Diarrhoeal diseases, Measles, Pneumonia.

56.

FETEReT W TGl GURIGEE S Hh SR ?
(1) .U ofor TS 3. e T (2) HEATH.IF.
@) T T HT (4) T2 TF B

Which of the following agency is working with NGO's to improve access to services for
responding to violence against women ?

(1) UN and NGO Fund Trust (2) IMF
(3)  UN Trust Fund (4) World Bank Fund
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57. WIGTRTRIG QIO Sree SATTVAEE! 0T Ted] WTTR e S 2

(a) SIORATREF TE (b) = QG

(c) HuR w2 (d) S e

TRt o

(1) % () (2)  (a) 30 (b) (B) (o) ™ (d) @) (@), (b) ()
Which institutions are established in India to reform juvenile delinquents ?

(a) Observation home (b} Juvenile court

(¢} Reformatory school (d) Balgram yojana

Answer options :

(1) Only () (2 (a)and (b) 3) (o) and (d) 4) (a), (b} and (c}

58. T G Gedl AT T TR AT SRV Lvaran ol Hers weeH waen. a1 aEdiae
TAS HIUET THUM FET R ?

(a) TATSAT 20 A AR A AFET TR TES BTN,

(b) oY @ Sq o] HIfEe 7Ed.

(c) oIy YTHIITEHIT SiEee ¢ SR & 5T,

(d) oY o aeTs el Fvars R w e waer e o,

it Y
(1) w3 (d) (2) HH (a)
(3) FEH (c) (4) e gd foum SR ames

The government of Maharashtra has decided to give 1% parallel reservation to the open
category orphan. Which of the following statements are correct in this case ?

(a) After 20 years of age they have to leave the orphanage.

(b) The caste of orphan children is certainly know.

{(c) This reservation is applicable to those with orphan certificate.

(d} This decision has been taken in order to secure the past of the orphan children.
Answer options :

(1) Only (d) (2) Only (a)

(3) Only (0 (4) All above statements are correct
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59, STR-FS® § IS IREIY HROTINU HIUETHISS1 el Fe WeRTgm TR B
FHEOE ST,
(1) 1, 2007 (2) 199, 2000 (3) 1T 2005 (4) 199, 2009

The Central Act for maintenance and welfare of parents and elderly citizens has been
implemented in Maharashtra from :

(1) 1 April, 2007 (2) 1March, 2000 (3) 1 April, 2005 (4) 1 March, 2009

60. qm%ﬁmawuma”r foamentag wafoeneam Tow S THA-6 &1 W& Hudr I,
= FHE vRdE faeTw s geReR fave maen Afgut e e 36, @
SR FreEd ETSuE! HoT ?

(1) ¥ 01331 (2) SEO017 30
(3) 01431 (4) ST 01 131

The students while taking admission to colleges are made to fill up form no. 6, as per the
recommendations of Election Commission of India being a special drive for registration of
new voters to be implemented during a specific period. Which in that time from the

following ?
(1) January 01 to 31 (2) June 01 to 30
(3)  July 01 to 31 (4) August 01 to 31

61. 734 TEAEEET B Afewiddl wedE et S S a9
(1) wefer @ wm Fe e 3 WEet 6 Wi wge W e,
(2) THEME E SEOT INUTE TR HeA HiEee WE WA 20T 9.
(3) IUEHR TRU S UH gAY S feaiaret e ST SaeRaE o
(4) T HEAEET F4TE R T aetaa S,

The 73" Constitutional amendment is a significant development for women because :

(1) Women working in organised sector are given six months maternity leave instead of
three months.

(2) Women are given special protection if they complain of harassment at work place.
(3) Out of the total number of seats in Panchayat 1/3™ have to be reserved for women.

(4) Age of consent at marriage is increased.
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62. WA TSI/ FTHATE HaHd THER AE! oo
H q
(a) YR @ 2010
(b) =A@ @iy 2003
(© o et AgeE wwEm g (i) 2001
(d) FRE Fre (iv) 2009
i 3T
(@ (b) (0 (d
1) @ @ 6 @
@ (v @) 6 @
@ @ ) @
@ @ @ @ 0
Match the following Schemes/Programmes with the appropriate year :
A B
(a) Swadhar @i 2010
(b) Ujjawala - (@) 2003
{c) Indira Gandhi Matritva Sahyog Yojana (i) 2001
(d) Kanyadan Yojana {iv) 2009
Answer options :
(@ (b) () (d)
1 @@ @) @O @)
@ (v @) @ G
@) @) vy @) @
¢ (v) @@ @ @
63. 1969 €A TE FOTW TLHF Wan Fretre (NSS) T F17 AR ?

(1) wEErga e (2) EE FFEd

(3) SHeamongA fymarar (4) WA e

What is the purpose of National Service Scheme {INSS) introduced in 1969 ?
(1) Education through Cooperation (2) Excellence through Service
(3) Education through Welfare (4) Education through Service
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64. TAGUF! HIvA I HAZ F=71 sTast’ & AN gE& F ?
(a) HSEI S TS0,
(b) A= s g J=E,

(c) To fasmor 3o,

(d) wefemEE gfhEy wo.

watdt I

(1) ¥ () (2) (a) 3T ()

3) (@, (b) 3 (c) (4) (@) (b), (©) 3T (d)

The scheme ‘Majhi Kanya Bhagyashree’ has been started with the objective of :
(a) To increase the birth rate of girls.

(b) To enhance the health status of girls.

(c) To educate the girls.

(d) To prevent child marriages.

Answer options :

(1) Only @) () (a) and (0)

(3) (a), (b) and (0 4 () ®) (© and (@

65. 1986 =1 UIE Haiforee HRUTAEN Srarsshag faeneata 10 Tvvg 968 eafaet e
(a) TUSERN, UL THHA!
(by o T
() A9 i, gm Wit qifor FefeRaon
(d) THEEaon, Saeasiesn sufor Seretie
FHGUHT HITT/FIT TAIT FAR T 2
(1) +H @ @ ®AD (B )T @) FH (b
According to the 1986 National Education Policy, 10 fundamental values are cultivated
through curriculum in the students :
(a) Patriotism, National Integration
(b) Dalit equality
(c) Scientific approach, Dignity of Labour and Punctuality
{d) Neatness, Sensibility, Courteousness
Which of the above option(s) is/are not correct ?
(1) Only (@) @) (b)and (d) () (), ()and (d) (4) only(b)
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66. TG T AW 99 S &3 )

(1)
2)
3)
@

M GO, I SFea, I Fffd, I SwEem, S
TR THET, T Fao, 1 o, 9 9, ¥ faw

Remarkable five fields of National Knowledge Commission are

(1) Knowledge accessibility, Knowledge concept, Knowledge creation, Knowledge
application, Service distribution.

{2) Knowledge concept, Knowledge creation, Knowledge application, Development of
library, Service distribution.

3) | Knowledge accessibiiity, Knowledge concept, Knowledge creation, Knowledge
application, Research.

{4) Knowledge concept, School education, Knowledge accessibility, Knowledge
application, Service distribution.

67. fegem@mn aw HTS Hen S,

(1) T W= J"H ¥T=

(2) TR I

(3) SAiEEe qara

(4) HET WITSTR WHERN A

Twitter is used to

(1) communicate confidential information

(2) electronic mail

(3) interpersonal communication

(4) commuricate big social group
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68. UL Fred T s 7 widan feen o,
(a) U<ty Frew fawmg e
b) T dreg frw fm
(c) EH WivTaT HeTeTed
(d) T foreor weremTed
it Sy
(1) = (a) (2) (a) 3T (b (3) (a), (b) MM () (4) FH ()
The National Skill Development Mission is supported by
(a) National Skill Development Agency
(b) National Skill Development Corporation
(¢) Directorate General of Training
(d) State Directorate of Education

Answer options :

(1) Only (a) (2) (a) and (b) (3) f(a), (b)and () (4) Only(d)
69. T JH STEANTE TG 13 97 2005 Asht ] RIS FUGTT SR,

(1) T vagae 8. g fE

(2) =i aveu foEER

(3) = FeR H.uw.

(4) 9= o

Establishment of National Knowledge Commission is on 13th June 2005 under the
Chairmanship of

(1) Ex. Prime Minister Dr. Manmohan Singh
(2) Dr. Arun Nigavekar

(3) Dr. Kothari CS.

(4) Sam Pitroda

70. TSI TAVE Hee (NBA) <t € _ A1 [N e
(1) F¥eR (2) g (3) TR (4) AT
National Board of Accreditation (NBA) was initially established by
(1) UNESCO (2) UGC (3) NCTE (4) AICTE
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71. WISSHH U a0 g9 faamds (sou) ' -l ?
(a) e, 9o, TREm
(b) ToER, oW, wfEd s
(c) fvams, sauEs, @M
waidt I
(1) (a) P (2) (b) =M (c) FEa
() () S () FEH (@) htE e T
Which of the following states does not have ‘State Open University (SOU)’ ?
(a) Odisha, Punjab, Haryana
(b) Bihar, Assam, West Bengal
(¢) Chattisgarh, Uttarakhand, Assam
Answer options :
(1) (@) only (2)  (b) and (c) only
(3) (a) and (c) only (4) None of the above
72, AFFE AR @Y @ gufEw.
(1) I () T (3) T @ T
The Four Pillars of learning are suggested by
(1) UNICEF (2) NCERT (3) NCTE (4) UNESCO
73. WEASYH R v Hieters SaE A vie faam e &2
(1) e Afge T de () dmEfeE sy e
(3) wEHEH We & T (@) e R g |
From the following which title is given by Mohanlal Saxena Committee for adult literacy
scheme ? '
(1) Adult women literacy scheme  (2) Social education scheme
(3) Evening adult class scheme (4)  Adult literacy scheme
74. WRAR fedt fowe wfoaor e A9 T FrA.
(1) ¥ @ @) = (4)
The first teacher training school in India was set up at .
(1) Serampur (2) Pune (3) Mumbai (4) Madras
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75. ere Yfidd afr e @ ofve sfefufmemdt o _  faamm e
(1) gas afn wig (2) WS wEA fawm
(3) fa= (4) Taam anfo d59m
National University of Educational Planning and Administration is established by
department.
(1) Youth Affairs and Sports {2) Human Resource Development
(3) Finance (4) Science and Technology
76. WX ST < A 1911 HEA _ T .

(1) R foagm g, STeR

(2) wARE HEaHed, ™

(3) sifvaifmt snfor dsfamr wetieemea, sme

(@) HAreRfaad oo &, g

Sir Jamshed Tata established the in 1911.
(1) Indian Institute of Science, Bangalore

(2) College of Banaras, Banaras

(3) College of Engineering and Technology, Bengal

(4) School for the training of overseers, Pune

77. . €YU WERAS 4G MEITEG AR grey fasmoman ant wors .

(a) it feron (by Tarart Tarer

(c) I-wET (d) H-famagor

it I

1 @I @ OMIQ (3) HH (c) (4) T (d)

To achieve goal of total literacy way of non conventional distance education means
(a) Technological education (b} Private education

(¢} E-learning (d) Open education

Answer options :

(1} (a) b}and () (2) (b)and (c} (3) only (c) (4} only (d)

THoehl TS AR /SPACE FOR ROUGH WORK
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78. ‘Usta wivew fawra afErrs e’ w

(a) 15 9 2015 qsh

(b) Vi a1 Freed fe wEm

() TS YRATY g TM3vaEst

ot 3T :

(1) (a) S (b) w0 (2) (b) 3nfn (c) ®e

(@) (a) S () F @) =lotsr v

The National Skill Development Mission launched :

(a) on 15% July 2015

{b) on the occassion of World Youth Skiils Day

(c) to achieve the vision of ‘Skilled India’ .

Answer options :

(1) (2) and (b) only (2) (b)and () only

(3) (a) and (c) only (4) All of the above
79, Toerom=n ScreA apweht ey Sreran € Rrey A FL

(1) = Fed smm (2) & yRfear smm

(3) THHA! s (4) o TurFEwE

Education should be related with prdductivity is recommended by

(1) Dr. Kothari Commission (2} Dr. Mudaliar Commission

(3) Rammurd Commission (4) Dr. Radhakrishnan Commission
80. STiawre Viaforer e W (IIEP) A8 FR.

(1) ¥=3 2y fet 3) oA (4) W=

International Institute of Educational Planning is at

(1) Mumbai (2) Delhi (3) London (4) Paris
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81.

36

fnagor s (1964-66) o1 FrEATEr Vi F R,

(1) oo anfn vite faerr

(2) T anfin snf¥fer famm

@) faor anf i frm

() foreror anfn wrnfae-anfifs faem

The Report of Education Commission (1964-66) was entitled as
(1) Education and National Development

(2) Education and Economic Development

(3) Education and Industrial Development
(4) Education for Socic-economic Development

82.

(1) Is Gew (2) ¥&S shrwia
(3) € F g I (4) T it e
The Magna Carta of English Education in India is .

(1) Wood’s Despatch (2) Macaulay’s Minutes
(3) Lord Curzon’s Resolution (4) Hunter's Recommendation

83.

WRAw® TVET Womre St w1 FQ,
(a) vEa fomE |

(b) TR 9 FEea fFm

(c) = fereqomst orern T@w

it I ‘
(1) (a) 0 (b) TR 2 (b) 37 () B
(3) (a) O (c) wFI 4) weiE! 9o

TVET system in India works for

(a) Sustainable development

(b) Knowledge and skill development

(c) Maintain quality of technical education

Answer options :

(1) (a) and (b) only (2) (b)and (c) only
(3) (a)and (c) only (4) All of the above
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84. et fawm R e/ @ 4R fFRws fagm TR & .
(1) ST, I, T HFEE
(2) NgAH, I, SEFEH
(3) =4, IW, = T
(4) Ve e W\, JF, SETEE
Human Development Index is prepared by the following three index
(1) Life expectancy, Knowledge, Total population
(2) Life expectancy, Knowledge, Standard of living
(3) Age, Knowledge, Per capita cost
(4) Adult literacy ratio, Knowledge, Standard of living

85. T T YO il e 7oaT AT (AHG) i HIvEATE! e o), Aemde aRiiE

T HRHT g A it T e,
(1) = Fed @ @
(3) gt g\ dga (4) HTA. TFIEETH

There is no difference between intellectual or psychologlcal capabilities in boys and g]:ls
physiological difference is not important among them, is stated by

(1) Dr. Kothari {2) Dr. Reddi
(3) Smt. Hansa Mehta (4) Shri M. Bhaktvatsalam
86. WV fawmEe UL YRw FE HATIH TES.

(1) IR A TR AN

(2) MR TAA

3) NNE TS HAeR

(4) i fawr w3

The National Policy on Skill Development has been formulated by Central
(1)  Ministry of Labour and Employment

(2) Ministry of Commerce

(3) Ministry of Corporate Affairs

(4) Ministry of Rural Development
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87. TS WIEwa fE T FEPRTS FaRiT FEfes wera 3vgmEt TEiEe .
(1) 15-35 o8 (2) 35-40 I8 (3) 40-50 = @) 51-60 =&

National Literacy Mission imparts functional literacy to non-literates for the age
group _
(1) 15-35 years (2) 35-40 years (3) 40-50 years (4) 51-60 years

88. TGl WEEARIE TAEUE o

1) mﬂwmﬁmgﬁmw
2) e, snifos amiede wd

3) I Fo w@d

4) aum, i &% fHemet Fom ud

Investiment in human resource means

(
(
(
(

(1) Cost on facilities of education, training and health
(2) Cost on physical and non-physical tools
(3) Per capita cost

(4) Cost on development of vocation and industrial field

89. W (SWAYAM) ¥ 3R,
(a) $-=fn Sew (b) T
(c) Hawm WA (d) RTE ¥
Tardt st
(1) (a) ¥ 2) (b) ¥
(3) (a) 30f%T (d) FRT @) (b) i (o)
SWAYAM is
(a) E-learning Platform (b) Satellite
- (¢) Space Laboratory (d) RTE Portal
Answer options :
(1)  (a)ordy (2} (b)only
(3) (a)and (d) only (4) (b) and (c) only
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90. dry =g 3fY snarEn FeagaEt _ ST A ST e Sl
1) s 2 FfeE (3) fueht ¢4) wfws
For proper choice of career and courses tests are preferably used.
(1) Aptitude (2) Intelligence (3) Attitude (4) Personality
91. freyor gt W 71 faenet fe .
(1) wEEE (2) wneET
@) Tem (4) S FIR
Education Guarantee card is given to children.
(1) Migrated {2y Out of school going
(3) Absent ‘ (4) Child labour
92, WISHTUH! HivRT T freromean o G wefta ong ?

(a) vrefewaE HRuE e ST,

(b) Temrorem Td TR AR HEKE HIO,

(c) 3T TYfTEF T AT T HEAATI TGdrd RO I,
(d) faareian snfie T SamEw.

Ity Y
1) (a), () T (¢} (2} fa), (b) 7 (d)
(3) (@) (b). (c} T (d} (4) (@) F(d)

From the following which programme is related with the qualitative development of
education ?

(a) Implementation of language policies.
(b} Making changes in curriculum of all levels of education.

(c) Use of modern techniques in teaching and improvement in evaluation method.
(d) To uplift economical status of student.
Answer options :

(1) (a), (o) and () @)
(3) (@), (), (c) and (d) (4)

@), (b) and (d)
(a) and (d)
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93, WieWt AT freEReiTER AnfEe FEw :
(1) wqul feroma wefore vm 3T,
(2) fomeromen yofa: amecan v s,
(3) favm e FETTE qEEE! HEE.
(4) EYol frsromen FERTETAR MM S

As per the Kothari Commission Report Guidance Programme should be
(1) Integral part of whole education system

(2) Separate from whole education system

(3) Should be for special needs children

(4) Inclusive part of education system

94, fFz-9T IEATT, 1936-37 =7 TIERITAR WhRST Ao Wl SEETH e,
(1) ifeesfeg (2) wRdE A S
(3)  ireifirer wfieror ween @) T e we
On the recommendation of Abbot-Wood Report, 1936-37______ type of technical
institutions came into existence.
(1) Polytechniques (2) Indian Institute of Technology
(3) Industrial Training Institute (4) National Institute of Technology

95. fHerie wEeYs! v Wafaer Afasiee SR T ?
(a) TEITESME [ A0,
(b) =T FEEE
(c) Afus dymma s
(d) T& FHI= Bk TR AR,
it 39t ;
M @ @ @ @) G T @ (@@
Which of the following tendancy in education is known as Globalization ?
(a) Bringing Administrative Change.
(b} The International Co-operation
(¢} Understanding Universal Brotherhood
(d} Cosmopolitan Citizenship.
Answer options :

1} (2 (2) (b)and (c) () ® (cjand(d) 4) ()and(d)
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96. WRAMS TCUEEE THIAISI GEHISONHE] Md THR 0% JE0 Ao IF g A6
sRa. YT Qg e e

o A EC)
(a) T IJH - UPSC/SSC 799 U9 Saa e STanTren TeEuie 36 groed
fereneatn g wiaren At Tee wTo

(b) USTTAD (S®R)-  aiifén g famey ofe i g Jfevre sy / wreq wh xoad
it =Y ;

1 (@ @ ®

3) (). ® @) ol S T

Following are the schemes of Government of India for empowerment of minority
communities in India. Find out the correctly matched pair/s from the below :

Name of Scheme Objective

(a) Nai Udaan - Support for students for preparation of main exams who clear
prelims of UPSC/SSC State Public Service Commission etc.

(b) USTTAD - Upgrading the skills and training in Traditional Arts/Crafts

for Development.
Answer options :

1 (@ (2 ()
3) (a) (b (4) None of the above

97, RIS IERUTET YRS wararen fafay gewisr wretetel S aftom @S ?
(a) v (b) O A
(c) T &A= HFEA (@) IRrE SE=n fEadas ar
() TRodfeaw wevdpe™ ad W (f)  UREen Fager waEm
wafdt sy

Q) ®)(d) (), B 2)  (a) {9 (d). (e)

@ @ ®)©) @@ (4) Fo =

Which of the following are the impact of globalisation on different sections of Indian
Society ?

(a) Growth of cities (b) Growth of child labour

(c) Shrinking of agricultural sector (d) Increasing health care costs

{e) Rising divorce rate day by day (f) Limitation on choice of customers
Answer options :

(1) (), () (e) () 2) @) (9 @) (o)

G) (@), ®) (). (d), (¢) (4) Al above
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98.

42 A

T Fe e

(a) UIi® faaia FTom= 3N WEEA (OPEC) = 9T 1960 TH e,

(b) T A 30 & OPEC =} Te17s T T 3.

(c) OPEC =1 Sty Ygifeam= WIF e 39vr ane.,

(d) IS g fofam € G5 OPEC = Seenves Hew U SR,

qatet 3y :

(1) = (a), (b), (c) (2} FH (b), (o), (d)

(3 wH (a), (9). (d) (4) H (a), (b), (d)

Select the correct statements :

(a) The Organisation of Petroleum Exporting Countries is established in 1960.
(b) Iran and Iraq are founder members of OPEC.

(¢} To maintain or stable the rates of petroleum is objectives of OPEC.

(d} Nigeria and Libia are also founder members of OPEC.

Answer options :
(1)  Only (a), (b), () (2}  Only (b), (c). (d)
(3}, Only (a), (c), (d) (4) Only (a), (b), (d)

99,

TrFSIEm F favm e o ?
(1) TEvaaR Yiisus FEar (POTA) 2002 HE AR FeT BT

(2) WINEE TR AFEMYFR STEMTH S6e IR Jaaus wrere fehme i F3
B

(3) TRYARE YRS U Fraeret (POTA) SN Tesiaare; 3yt faumaes Fmamn (i) s
(TADA) Bac 2rel.

(4) TOSIH T .

Which one of the following statement is incorrect ?

(1) Prevention of Terrorism Act (POTA) was passed in 2002.

(2) The National Human Rights Commission of India also critiqued the POTA.
(3) POTA was replaced by Terrorist and Disruptive Activiies (prevention) Act (TADA).
(4) None of the above.
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100, FArem anfiw Tt wrfee wftasfomdt gee favm,/ win.
(a) ™ 54 A AT
(b) WAF T AW 18 W 7 Ui FrRiETEwE e,
() <= wE ivERm e Afeam 8,
(d) T IR sreay TH AuTEE Fae waw S e Ee au 3 [HeSTE o6

g TR
() UitwR= flg wde 4 2/3 Sg9ame OO .
Tt I469T
1 @, ) (@) @ 2 ®) () (d)
(3) © () (e @ @@

Find the incorrect statement/s about the UNO’s Economic and Social Council :

(a) It consists of 54 members.

{b) General assembly elects 18 members each year for three year term.

(c) Its major session is held in April.

(d) The President of it is elected for one year and cannot be re-elected immediately.
(¢) Decisions of the council are made by 2/3 majority every time.

Answer options :

(1) (@), (), (c), (d). (e) 2 () () (d)

@) (. @) € 4) (d). (e

101. FAfTaR gfvem o e faym franm =0

(a) TR ghmera fae o 98 deaws TR ot 3R,

(b) FOaE g Al anftn Wi ¥ HeaE 9T AR

(€ FRrA g™ aure BoarrEt & dem fer S ot aeet sfiuer i swres
AR T T FORT SR SEEE Y,

(d) TR FuEe SITRE 50 Hell FUfTER i queEE Rigudrs! Tg I,

TS Hrowdt e RrET 3T ?

1 @, ®)© 2 o wd 3 ) © @ @ (@) @ @

Consider the following statements regarding European Union :

(a) European Union has been growth from the six founding states.

(b) Austria and Sweden are the founding members.

(¢¢ To become a member, a country must requires a stable democracy that respects
human rights and the rule of law.

(d) The Lisbon Treaty contains a clause under Article 50, providing for a member to
leave the European Union.

Which of the statements given above are correct ?

1 @, b)) (2) Allabove 3 (®) () ) @ (@ © @
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102. aHaifywR= fidl/ et @a faum wim we.
(a) PRI snfn G AR afee weAe AfvFR e T,
(b) Wfefen, wrfor anfor wisfasw sifvemdr o= e SIfvsR e 7S,
qatdt gl
1 @ 2) ()
3) (a), (b) AH (4) TedH FORE T
Find out the incorrect statement about Human Rights Generations :
(a) Civil and Political rights are recognised as first generation rights.
(b) Economic, Social and Cultural rights are recognised as second generation rights.
Answer options :

1 () 2 ®
(3} both (a) and (b) (4) none of the above

103, Irg SR o - (UNO =t fafift)

(a) ETwiawEn uiye (b) e ufiwE
(c) eTH dftsg (d) iR G
it I :

1N ®)© @@ @ @ @ 0@ @) (©d®),@a (¢ @@ b d
Arrange in appropriate periodical order - (formation of UNO)

(a) Sanfransisco Conference (b) Yalta Conference

(c) Tehran Conference (d) Mascow Summit

Answer options :

1) ®)p ) @d@E @) @@ b G ©a@ee @ @« b «d

104. TR-vTafes snfds 9esd (APEC) T4 Groieas! oW faym s - ?
(1) <t Sehey Fawem Arefoars dJanyr afd eie I i Tzt e,
(2) weER! aguelty snfde anfn =R w= muE R Fd w .
(3) suedom, = enfor fren & ofwst S wew e
(4) ot afaarey famR 98 o,

Which one of the following statements regarding ‘Asia Pacific Economic Cooperation’
(APEC) is not correct ?

(1) Theidea of APEC was firstly publicly broached by former Prime minister of Australia
Bob Hawke.

(2) APEC operates as a cooperative multilateral economic and trade forum.
(3) Australia, China and Russia are the founder member of APEC.
(4) APEC’s secretariat is in Singapore.
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105, WS =l =R &4
(a) TRRIS U9 WA § e SAENTS W1 6 7™ 2001 S w0AT S
(b) <A SENER yEifyRRt ¥ T ufed steuer B,

Whﬁ‘?ﬁ‘(:
(1) (a) T (b) A TR A (2 (@3 (b)) IR TF omRa
(3) (a) TR, (b) IF R (4) (b) SR, (a) TH IR

Consider the following :

(@) The Maharashtra State Human Rights Commission was established on 6 March
2001.

(b) Justice Chandrashekhar Dharmadhikari was the first Chairman of the Commission.
Answer options :
(1) {(a) and (b) are correct (2) (a) and (b} are incorrect

(3) (a)is correct, (b) is incorrect (4) (b) is correct, (é) is incorrect

106. TSFOESY TE@ts RivR faum ae i ?
(1) it femRem e gueare avie wEwew 1884 Gt ‘USTe T’ 39 Fa,
(2) W& ShTTER sy Tggert Ffd 1949 Tk we.
(@) TFe ANuew we TR fraly o v
@) TEFEER 2002 A fretier ws wuiEE fefm ¥ 2R

Which one of the following statements about ‘commonwealth’ is NOT correct ?

(1) In 1884 the British Empire was first described as the ‘Commonwealth of Nations’ by
Queen Victoria.

(2) The modern commonwealth established in 1949 with the London declaration.
(3) Commonwealth cannot impose sanctions on member states.

(4) In 2002, Zimbabwe was suspended for a year by commonwealth.
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107. Gore faum fa=me = .
(a) YR 2012-14 REE TG fETRE WHTO (sex ratio) TR 68 TAT=T @A AIEST TG
7T 906 TR A1 2014-16 RE 2 T 898 WO TR,
() TEE Freft s sifeT Foem SR FRYTAITER YRAM Hoie SHEl (SRB) goi=

qoAa 21 Fa 17 Hien Ty =2 AR,
Tafer 39T :
(1) faum (a) R, (b) T (2) faum (b) TR, (2) TH
(3) I faum g (4) IrER faum S

Consider the following statements :

(a) The average sex ratio in India declined from 906 female birth per 1000 male births in
2012-14 to 898 in 2014-16.

(b) According to the latest Health Index released by the NITI Aayog, India’s girl-to-boy
Sex Ratio at Birth (SRB) have declined in 17 of 21 large states.

Answer options :

(1) Statement (a) is correct, (b) is false. (2) Statement (b) is correct, (a) is false.

(3) Both the statements are false. (4) Both the statements are correct.

108, FIO T oM ATUFRN FRERTR TR YT T FaIfas 0 ?

(a) WIRA (b) H (c) eI (d) TSMfEmE
Wﬁﬂ'a?ﬁ‘:

(1) % (a), (b), (¢} (2) % (a), (b), (d)

(3) TH (a), (o), (d) @) o ad

Which nations are incorporated the fundamental rights with legal importance in their
constitutions ?

(a) India (b) France (¢) Canada (d) Indonesia
Answer options :

(1) Only @), (b), (© (2) Only (a), (B, (d)

(3) Only (a), (c), (d) (4) All of the above

109. YEredet wiveen faemaa fawm f& uw whiwm ift wiea sa Tarte Fmfiiein #Ha -
a7, o, eTdra Fan onifty JomTR A= T ATATHIST T FRAIHIS! TS Whifd weet
AR ?

1) d g 2 AfeawE (3) dfe FE 4) w8
Which scholar has defined development as process and product, demanding need of state
intervention to guarantee its citizen a basic minimum - food, education, healthcare and

emplovment ?
(1) Peter Drucker (2) Oliver Hart (3) Paul Krugman (4) Amartya Sen
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110. YEISTE! FoR <Y/ hear 3T a2
(a) TFE fasrEas T FIW - 1950
() TrFa FuFEaH TRREHT FW® - 1990
(c) T fusr suftr A sfuer fawd AfFe w9g - 1948
it 36y
(1) (@, M) () 2y (®) (9 G) (a), () 4) (o
Which one of the following pair/s is/are incorrectly matched ?
(a) The European Covenant on Human Rights - 1950
(b) The American Covenant on Human Rights - 1990

(c) The African Charter on People’s and Human Rights - 1948
Answer options :

(1) (a), (b) (c) 2 () (9 G) (@ () 4 (9

111, ‘' gy stfom Tevare diw ot stfewa’’ € =men St w2

(1) vEE e (2) W fommt

(3) TS (4) EgHif

Who define that “Non-alignment is a policy of keeping out of alliances” ?
(1) Pandit Nehru (2) George Liska

(3) Schwarzenberger (4) Hans Morgenthau

112, TS ARafasR dmdadt gee faam famme =
(a) TG AHANYHR TR € U SeoTF Hea .
(b) ¥ FaTE @A faa AT ™ AEE UE N
(c) 1 W 7 MV W = AAUEH] FT AiFHs@ehgs FHedn .
() TS STIEEIE AN Ay § 9 ISy EHg 958 FEaw.
e faur FoR faum/ faem e amd/a 2
(1} X (a) 2) (@) @) (9) 3) ) () (D) @) ()
Consider the following statements regarding the ‘National Human Rights Commission’ :
{a) The NHRC is a constitutional body.
(b} Only retired supreme court judge can be its chairman.
{c) The chairman and the members of this body are appointed by the Union Cabinet.

(d) The chairman of the National Commission for Minorities is its ex-officio member.
Which of the statement/s given above is/are incorrect ?

(1) (a) only 2)  (a), (b), () (3 (®) @ (d (4) (d)only
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113. " TR T @ e der-wnevan sifues Wik et o, ot Sl we ?
(1) T i () T&AG
(3) o Foor @) 3. T8 TuEeE
Who state that, “The problem of corruption is more serious than our border-problem ?”
(1) Rajiv Gandhi (2) Narendra Modi
{3) Acharya Kriplani (4) Dr. S. Radhakrishnan
114, T Fo S

(1) TN HEYER SEATH ST 1993 75 7,

(2) NHRC =1 A= THoF WETa FTaw.

(3) T wfeen sEFTSN AedE NHRC 2 T6E 956 $am.

(4) W I ¥ 2012 ek NHRC w1 31eeq 8T,

Select the incorrect statement :

(1) National Human Right Commission is established in 1993,

(2) Chairman of NHRC is appointed by President.

(3) Chairperson of National Women Commission is ex-officio member of NHRC.
(4) Mamta Sharma was a chairperson of NHRC in 2012.

118.

et B faym)/ faar Qe am/q02

(a) fam wfamre Tema sftemr Wivemra Sweam snftn foen srftarREls R 99 @ra
FIR D IR,

() fam wiEee Tw wo&w el gttt fafimea snfn St fafine mei= 9eg 9=
IR wFEr SfusmRier Niveard e wfer S .

it =Y :
(1 () @
(3) T8 (a), (b) @) s S TS

Which one of the following statement/s is/are correct ?

(a) The western conceptualization of rights and its focus on individualism is appreciated
by the non-western world.

(b) Non-western countries argue about cultural peculiarities of a country and the values
of specific group of people to counter western perspectives on human rights.

Answer options :

1) (@) 2 @)

(3) both (a) and (b) (4) none of the above
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116. Grote faym foare o

(a) mamﬁwaﬁz-zoﬁmmmwﬁmmﬁmﬁw
Teegor i@ TR,

(b) T R sifafa fadfars @t Sfisr @ FE vRAR AR SToe TR,

() FTBT20 =ifHd FA F FIVEE AR THE TRANE! THUE Ay 33 IR FO
IR AT A TR sty Jet fren e wwom .

(d) T fodfaeg Seoman sifusr o fauria sger Tersiy SfusoTeRs Seemsd
TS ITo IR,

FASUHT HIoE fau™ SUET nda ?
1) (@, ®) ) 2 @ © @) ©, (@) @ ®) @

Consider the following statements :

(a) Article - 20 of the Indian Constitution grants protection against arbitrary and
excessive punishment to an accused person.

(b) The right to protection against arbitrary and excessive punishment is available to
Indian citizens only.

(c) Article - 20 declares that no person shall be prosecuted and punished for the same
offence more than once.

(d) The protection against double jeopardy is also available in proceedings before
departmental or administrative authorities.

Which of the statements given above are correct ?

Q) @ ®)© @ @« G (e (d) @ ®). @)

117.

AR S T (NAM) ® S 2

(1) SRS TEE (2) ifaw g =&
(@) FF T (4) R ST
| Which of the following are not related to Non Aligned Movement (NAM) ?
(1) Jawaharlal Nehru (2) Josip Broz Tito
r(';'o-) Kwame Nkrumah (4) Yasar Arafat
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118, wew faurr faer 4.

(a) T wfad ATt gEeh Sfaarasd 30 HOR IR

(b) YRFE TN FAIEAR WOE U A frefauaren sfuer oy s wew = adl

S T,
it T :
(1) (@ F () T T e 2 (2) 3 (b) T T A
(3) (a) TR MY @)  (b) F AM

Consider the following statements :
(a) There are 30 articles in the Universal Declaration of Human Rights.

(b) Article 4 says ‘Everyone has the right to recognition everywhere as a person before
the law’. '

Answer options :
(1) (a) and (b) are correct (2) (a) and (b) are incorrect

(3) (a) is correct (4) (b)is correct

119. WEEEE (SAARC) 1 G i ?

(1) ¥ (SAARC) <t T fedar, 1985 7xd wre,
(2) W& (SAARC) =t ferer wftug T 9 auiv Tmifa e aw.
(3) ¥ (SAARC) <A1 WEiaarE HEHE 1 a8 Y.
(4) W (SAARC) =t e firar wftez 2 48 v Fvam set B
Which is not true about SAARC ?
(1) SAARC is established in December, 1985,
(2) SAARC Summit is organised in every two years.
(3) The tenure of General Secretary of SAARC is 2 years.
(4) The first SAARC Summit was held at Dhaka.

THEAT THIUTAES TRT /SPACE FOR ROUGH WORK
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120. WIS 31 e et FHOIH v fau e sma? |
(a) T T W RN T TN SAad I Ao i G quiareie svissar gogE
(b) TeiF= Tuia IRAM 21V TG T e AEa TS oMe.
() T T 2016 WA 34 TaGT BT T 2011 =1 FAURAE A 44 TIET .
i I
(1) @), ®) () 2) (), () 3 @ () “) (a), (b
Which one of the following statements are true about Infant Mortality Rate in India ?

(a) Infant Mortality Rate (IMR) is measured by death of children under two years per
1000 live births.

(b) India has registered decline in IMR in recent years.
(¢) In 2016 IMR in India was 34 and it was 44 during 2011 census.

Answer options :

1 (@, ®) () 2 ®)© @ @ © @ @0

121. FEMITY WEHGT G Hood JHATA Ue-3-US W AR TE _ wed fHed
(1) ¥ wrnfss wama e fan s Hew
(2) T AR fhan FEa 999 Heam 5w
(3) FET 93 FHAw Hes A HEam g
(4) HET BF HEAw T fHA T WEFER USB

Homes (for aged) run by Voluntary organizations generally receive grant-in-aid either
direct from the

(1) Central Ministry of Social Justice or Local Board
(2) State Government or from the Central Social Welfare Board
(3) Central Old Age Welfare Board or Welfare Commissioner

(4) Central People Welfare Board or State Cooperation Board
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122, GHSIH HUR faum geRra 378 ?
(a) FFAET TTEN T VHE B EHT eI, 347, ST, Wass! I Fae
FITITHIS, T T SMARYS A0 AIFATGAIHE T SR & = S rare
fafay Famdie TRl g Hoarme!, fafay wemei da [{g e
(b) T ETM q JHI FIBA € HRATHS AL X ST 9 MRS Fegpefrean Tt
AT, Thia 9/ e e FHiessl T=i=a] AeEHs T, Wies He F Aiae ™
T TN e T 2ue YHe IR e o

it I
(1) I favm g oA (2 I faum sl ende.
(3) v favm (a) 9% R (@) v faum (b) 9% IR

Which of the following statements is wrong ?

(@) To rehabilitate disabled, ill, dependent aged, to bring them back to their pre illness,
independent pattern of life as well as to address their problems in different spheres
of life, geriatric hospitals as well as government-voluntary organisations can provide
various welfare services.

(b) Elder abuse and elder care are the areas in India in which state, NGOs and even
international and national non-governmental organisations have a role to play
through medical or professional care model of services, in favour of Indian cultural

tradition.
Answer options :
(1) Both the statements are wrong, (2) Both the statements are correct.
(3) Only statement (a) is wrong,. (4) Only statement (b) is wrong.

123. [ESUSHT HIVE, TUFGH FHIST FZIAT T FET SR G T ?
(a) =N @ dafid R
(b) fafay RO THEmE TERT T YevETE
(c) TR 3 qAEEH STERIUE FEwae arars et
(d) s Nyz F fwsdaam

it Y

(1) owie Frodd, Srer . (2) 4 gEEn A,

(3) W (b) A (<) THE A (4) T (d) TEE AR

Which of the following is not a problem faced by the elderly people in the contemporary
society ? ;

(a) Issues related to their identity

(b) Alienation and discrimination in society due to various reasons
(c) Vulnerability to physical-mental illness

(d) Organic disorder

Answer options :

(1) None of these is a problem (2) All are problems

(3) Only (b) and (c) are problems (4) Only (d) is a problem
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124, TRIEEA=T 3TT% 17 T8R A FOGI A TE.
1) e = (2) SFegEE @) s fam (4) HTERY
has been abolished under Article 17 of the Constitution.
(1) Sati System (2) Untouchability (3) Bonded Labour (4) Jamindari

125. ¥RAE WAUMES (650 FEENE) T8 244 (2) TR 377 SHE &7 RUM SR Hoe Faul
SO T
(1) WeRTE, 3y wew, e, fqu
(2) T W, IvEw 9, 3Em, U
()  m, werew, fagu, fagim
(4) WERTY, W G, SNy wew, fagiem

Which states have areas declared as ‘Tribal Areas’ (under sixth schedule) under
Article 244 (2) of Indian Constitution ?

(1) Maharashtra, Andhra Pradesh, Meghalaya, Tripura

(2) Madhya Pradesh, West Bengal, Assam, Tripura

(3) Assam, Meghalaya, Tripura, Mizoram

(4) Maharashtra, Madhya Pradesh, Andhra Pradesh, Mizoram

126. 'SYHS 2 oFFR’ W FEQ FH 9 FIVIEES GHT FOIT ST 7
(1) 9 LR 2006, AT fawoima, wiass simam, Hofendid, geidm
(2) 5 MR 2009, FNHE, sfeafawem, W, sgawerT
(3) 1 ™ 1999, ARG 3iTHm, SglaskeTr, o, geidEa
(4) 30 fedisr 1999, wmfa= fawaimm, Afass FEw, wErm, SgaweT
When was- ‘National Trust Act’ Passed and for whom ?

(1} 9 September 2006, Mental Retardation, Cerebral Palsy, Hearing Impaired, Vision
Impaired

(2) 5 October 2009, Hearing Impaired, Orthopedically Handicapped, Autism, Multiple
Disabilities

(3) 1 March 1999, Cerebral Palsy, Multiple Disabilities, Hearing Impaired, Vision
Impaired

(4) 30 December 1999, Mental Retardation, Cerebral Palsy, Autism, Multiple Disabilities
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127. TH@TH S fau G o ?
(a) Qv Glawn faear T0dt sTa agaieh o8 & e STHa aug YeHiwar STdT TEd.
(b) ST 2797 T4 1982 WA TBIT T,
(c) TS ST TR 1982 1 1991 TTH Vl@vard 3T,
(d) STUEA TCTERAHS FoH 41, ST feadayis wm SogmR X 9.
afdt 39y
(1) faum (a) 3 (b) TR TR ) Toum (a) gFE aR.
(3) Ta¥R (a), (b) T (c) I M. 4) faum (d) v g SR
Which of the following statements is wrong ?

(a) Even if adequate facilities are given, handicapped mostly remain handicapped, as
they originally are, forever.

(b) International year for the handicapped was observed in 1982.
(¢) International decade for handicapped was observed from 1982 to 1991.

(d) Article 41 of our Constitution gives special emphasis on promotion of interest of
~ handicapped.

Answer options :
(1) Statements (a) and (b) are wrong. (2) Statement (a) is wrong.
(3) Statements (a), (b) and (c) are wrong. (4) Only Statement (d) is wrong,.

128. (a) 1919 HIF HAWLI HHR T T SR .
(b) 1946 WA AT FHIR G § Hga Tegwmrsi qfeeht fdrsfipa weiet aed.
(©) 1991 T AL HIFTR HIeAA 913 FR Fro i sTawsgia Hrdwe g6 Fe,
(d) HE THU 167 AW SAWLT FTHIR FoET TG 3TEe.

Fhetst g fmur wom ? . |
(1) (), (b), (c) Taur drg emi. (2)  (b), (c), (d) Faum g e
3) (a), (b) Taum dr7 i, 4) =T §d faum drg oA,

(a) International Labour Organization was established in the year 1919.

(b) In the year 1946 International Labour Organization becomes the first specialised
agency of United Nations Organisation.

(c) In 1991 International Labour Organisation launched international programme for
the elimination of child labour.

(d) At present total 167 countries are the members of International Labour Organisation.

Which of the above statements are correct ?

(1) (a), (b), (c) statements are correct. (2) (b), (c), (d) statements are correct.

(3) (a), (b) statements are correct. (4) All of the above statements are correct.
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129. 9IS BFHA TFF, menﬂﬁmmmwﬁwmwﬁaﬁﬂfﬁw
T AT ATIS! IR T HTE T ?

(a) 3T GH FSETH (b) FW

(c) aifedm (d) ¥ TS O

qadt I

(1) % (d) 2 @ @) wHD) (4) HORE T

Which organisation works to help older people claim their rights, challenge discrimination
and overcome poverty so that they can lead dignified and healthy life ?

(a) Aga Khan Foundation (b) CARE

(c) Oxfam (d) Help Age International

Answer options :

(1) only (@) @ @and(© (3 only(®) (4) none

130. EOEYH! FUR faur sHE Tl ?

(@) THefaRes w TmEm, JTEh Mve dEge, wHisn qmie 39 e e, @

(b) et Tl ool v R, ST YalgEH e o A,
it WY

(1) T (a) Taum SO 8.

(2) E (b) fau SR T,

(3) (a) 371 (b) TR FauR SR T

@) D= faum s aRA.

Which of the following statements is not correct ?

(a) Distruction of achieved progress, disturbance in progress, backward journey on the
path of progress are devastating effects of disaster at macro level. Same are the
effects at micro level also..

(b) Disaster does not occur everywhere. They are always predictable.
Answer options :
(1) Only statement (a) is not correct.
(2) Only statement (b) is not correct.
(3) (a) and (b) both statements are not correct.
)

(4) Both statements are correct.
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131, HERE AT Herg M PR ARR dererea aree faam foremm =

(@)

(b)

(c)
(d)

77 Aot PR safdaeiene Y 12, Seenifca Aiter o8 §eR it SToRt Svonad
HHTEY B,

71 Graeria i era fevamsiar $He a4 60 a8 aw fHfvem saa s
e, '

1 et YoF I sfaae Afasw T 600 TaE fdE IR o Wi

mmmﬁmmmﬂmmwwﬁwmmaﬁh
I feo we.

aﬁa&aﬁwﬁﬁuﬁ/ﬁuﬁﬁwm?

(1)
(2)
(3)
(4)

Fhedw! wd faur dr e,
(a), (b), (c) Taem A arda
@), (c) faur drmg amda.
(2) fau™ Ay o7k,

Consider the following statements about Sanjay Gandhi Nu‘adhar Anudan Yo]a.na of
Government of Maharashtra :

@

(b)
(€)
(d)

Along with destitute persons, orphan children, divorced women, persons suffering
from major illnesses are included under this scheme.

The upper age limit fixed under the scheme to get financial assistance is 60 years.
Each beneficiary will get financial assistance of ¥ 600 per month under the scheme,

Family having more than one beneficiaries will get financial assistance in proportioh
with the number of beneficiaries.

Which of the above statement/ statements is/are correct ?

(1)
(2)
(3)
(4)

All statements of the above are correct.
(a), (b), (c) statements are correct.
(a), (c} statements are correct.

(a) statement is correct.
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132. memm?
(a) wHET TG FLIEE A 9 F0
(b) T FHNAE IUFAH TG FA
() FHIEE THEARTS WA F0

(d) =TEER TES

Ity 39T
(1) (o), (c) 3nfor (d) (2) F (a) FMO (d)
(3) F=I (a). (b) sfor () (4) ¥ (a), (b), (c) fwr (d)

Which of the following are the examples of Rehabilitation ?

(a) Establishing Schools for BPL families '

(by Provision of aids for the crippled

{c) Reconstructive surgery in leprosy

(d) Change‘ of Profession

Answer options :

(1) @) (©and (d) (2) Only (a) and (d)

(3) Only (a), (b) and (9 (4) Al (a), (b) () and (d)

133, WEEYE! TR U TOET SR ?
(a) SNTH HEATAE STy Feisafaia WRam a1 W= Fore 35 sHEe .
b) T 3T e Hede SR, AR giem, S w, I, wel O a e

it 3T
(1) 5 (a) T STV, (2) W (b) WX AR,
@3) O fawrd wdaw e, @) A s .

Which of the following statement is correct ?
(a) Besides international organisaions involved in disaster management, there is no
other system in India with reference to this. :

(b) The International Emergency Management Society, European Union, Red Cross,
UNO, World Bank are the international organisations involved in disaster

management.
Answer options :
(1) only (a) is correct. (2) only (b) is correct.
(3) both are correct. (4) Dboth are incorrect.
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134. ¥ sfea (HAD TE TG WS .
(1) 1978 (2) 1980 (3) 1878 (4) 1880
Helpage India (HAI) was established in _ .
() 1978 (2) 1980 (3) 1878 (4) 1880

135. HERTS TSI ST [TaEA 91 SIedea] Sraameyis Soois! HIo faym b o 2
(a) & FHER IR Weheqanya S qHaes AfufEd 1999 91 AeH sieEe W,
(b) T AT TN SFASTAE 14 FHER 2000 TG TE T
(c) 2013 7ea WERTE Aufam . 10 TOR a1 HrEwe GURIT FI0FR e

(d) o FEITER EEEETY favria T Afier favria swwese Jra.

et v |

(1) u=E faum @ . () Fas® (b) faum @ TR

(B) %D () faum T SR, @) (), (c) faum /g A,

Which of the following statements regarding, ‘The Maharashtra Project Affected Persons
Rehabilitation Act’ is incorrect ?

(a) This Act is recognised as ‘The Maharashtra Project Affected Persons Rehabilitation
Act, 1999".

(b) Actual execution of this Act commenced from 14 January 2000.
(¢} According to Maharashtra Act No. 10, amendments are made in 2013.

(d) According to this Act, Divisional Commissioner has divisional level rights regarding
rehabilitation.

Answer options :
{1) None of the statement is incorrect. (2) Only (b) statement is incorrect.
{3) Only (c) statement is incorrect.  {4) (b), (c) statements are incorrect.

136, R TayY |iFdien A S@ES .
(1) sl wfit (1946) (2) it =i (1951)
(3) O wfut (1946) (4) vEEw Wi (1947)
The Labour Investigation Committee is known as the
{1) George Committee (1946) (2) Gore Committee (1951)
{3) Rege Committee (1946) (4) Paulas Committee (1947)
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137, Heamaret e woe Fwmd IRMTF (Geriatrics) TF Y@ FE
3.
(1) RIS (2) wTH
() =EFE A= | @) dIeHd
Geriatrics is one of the major activities for the welfare of the in industrialised
countries.
(1) Pregnant women (2) Children
(3) Aged (4) Farmers

138. 2011 =T IFUATER 60 TGS TGS RN THY SRS Woredsh yfava JH
faeft 2
(1) 6.2 whwm 2) 7.4 whww 3) 8.6 e @) 93 R

According to Census 2011 from the following what is the percentage of elderly above the
age of 60 years in total population of India ?

(1) 6.2 percent (2) 7.4 percent (3) 8.6 percent (4) 9.3 percent

139, TEGYH! FvmE sifeud, AmEEitEen v 8 e aeHEs e, faait d@eE6iua
<)
(2) I Ao W ofde TR AreAi W W T
(b) TS & TSR T/ ‘
(c) SEEATSN VYA SFHUR R, WS e st v feadEenie o
Tafdt 3= -
(1) 5 (a) Fa4T TR, (2) FE (b) i () Wafea TR,
(3) w& Hafum o, (4) A (c) HEfya .
Which of the following is a condition related to the problem and subjects like, ‘inequality
in opportunity’, of backward classes ?
(@) Social hierarchy related with ownership of land and economic hierarchy
(b) Class conflict and political power

(c) Relation to means of production, oppression in that relation and conflict of class
interest. :

Answer options :
(1) only (a) is related (2) only (b) and (c) are related
(3) all are related (4) only (c) is related
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140. RF daw were W@ w2 W e
(1) 1932 (2) 1949 (3) 1952 (4) 1947
The Harijan Sevak Sangh was established in
(1) 1932 (2) 1949 (3) 1952 (4) 1947

141. €T U A9 TEd FEied (UNDRQ) =1 €iwd Favmm ¢ iTasl =i saedm | aret
HErt 1980 e A% FwEdves ST FH B,
(1) TEmEERE () =¥ (3) wwEER (4) =

In February 1980, a workshop on “Disaster Preparedness Management” was organised
at with active collaboration of UNDRO (United Nations Disaster Relief Office).

(1) Ahmedabad (2) Mumbai (3) Hyderabad {4) Chennai

142, T A TS AT S T TGS ST WSS For FAr ST R ?
(a) To= 7= F ar=n st gao stamaTe & AR,
by o fasrier get samar o2,
() WARH. @ i WA, sewEER ¥ g e e .
(d) o= T 1983 W2 @,
gafat s :
(1} T (a) AF MR (2) FH (b) ITF IR,
(3) E (a), (c) AT (d) IFTTF FRA.  (4) OO T IHTF A

Which of the following statements are correct in respect of Ali Yavar Jung National Institute
located at Mumbai ?

(a) It's thrust area is Speech and Hearing Disabilities.

(b} It specialises in vision disability.

(c) It's administrative contro] extends to CRC Bhopal and CRC Ahmedabad.
{d) [t was established in 1983.

Answer options :

(1) Only (a) is correct. (2) Only (b} is correct.

(3) Only (a), (c} and (d) are correct. (4) Al of the above are correct.
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143. GWHSTEH! RO fHyr w=1 Ak ?

(a) oNfEeTs WU, THErET G ot fafay sriwaien wive, sufeamd=an fammamsda
FAERT FREEY, JifEe WA snfEerht fawm sfewe e, oftoe, fafay Q=i
BREEHTTEHRC SR W F enftr wnfae |nmen aren wie 2.

(b) ‘enicETEEN USHIG TS WadE S0, W SfEe IRdE SHat e sngEe ¥
srea, fowmm Frfwaiet sinoasTavi FwTvans e snfiardt fammant wefim dio

fafid=n wirden wuifam =,
Tt I
(1) eI () SR TE. (2) I (b) TR AT
() TR faum Tt oM. (4) T faur s .

Which of the following statements is not correct ?

(a) Akhil Bharatiya Adivasi Vikas Parishad, undertakes series of programmes in tribal
villages, have welfare schemes for the development of tribals. It encourages peoples
participation in various schemes and facilitates utilisation of local resources.

(b)  Akhil Bharatiya Vanvasi Kalyan Ashram intends to ‘enhance political participation
of tribals. It mainly influences, policy making process related to tribal development
rather than implementation of development programmes,

Answer options :

(i) only (a) is not correct {2) only (b} is not correct

(3) both statements are correct (4) both statements are not correct

144. TSRS 91 AT SRErSH Y] AHErt el AE i
amarTEt (Backward Classes Commission) Frgait &t .

(1) 356, 1963 (2) 320, 1968 (3) 340, 1953 (4) 221, 1956

In January . the President of India appointed a Backward Classes Commission
in accordance with the provision of Article : of the Constitution.

(1) 1963, 356 () 1968, 320 (3) 1953, 340 @) 1956, 221
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145. 1991 WA FWH 97 WO OF] FE SV FATEG THET FH HOaHe] FE F T ?
(1) UK FEEH TEAS Ta9 997 (NFLMW)
(2) Uit TEETE T (VDA)
(3) Ty fadeit fasageit (NOS)
(4) U Fre S S (NPS)
In 1991 what was mooted to achieve uniform wage structure and to reduce disparities in
wages across the country ?
(1) National Floor Level Minimum Wage (NFLMW) -
(2) Variable Dearness Allowance (VDA)
(3) National Overseas Scholarships (NOS)
(4) National Pension Scheme (NPS}

146. TRH T FHE-FTIE WT LU FA@Gav 7 FHeard g e wgg actets!
HIU] FoHid Hen e ?
(1) =oH 25 (2) S 26 (3) THEH 27 (4) w9 27-A
Among the following which provision provides for penalties for non-compliance of the

orders under Consumer Protection Act ?
(1) Section 25 (2) Section 26 (3) Section 27 (4) Section 27-A

147. UTES T IERAT SEddS TR0 S,
(1) TR T WoaTe ST Geer 20,
(2) TEHE SIETY 9 AOHYE HIaE ST 7S 3 SR e .
(3) TTEHE S HAUET WIS @ WAl QUIRAE I H,
(4) 9T TN UEF TEGER WEHTE YA B e e srvareH 201

Find odd man out regarding Consumer Protection Council.

(1} To Promote and Protect Rights of the Consumer.

(2) To Protect the consumer from goods and services which are hazardous to life and
property.

(3) To punish person for providing goods and services thereby causes injury to consumer.

(4) To assure the right to be heard an consumer’s interest will receive due consideration
at appropriate forum.

148. T RS STENTSN STRIEGEE T AETEa e sEe Fvamial fd Jea fada Fat
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What is the period of limitation prescribed for filing an appeal against the order of State
Consumer Commission before National Commission ?

(1) Thirty Days from the date of order (2) Sixty Days from the date of order

(3) Ninety Days from the date of order (4) Upto two years
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According to of Consumer Protection Act, 1986 the State Commission shall
ordinarily function in the state capital but may perform its functions as such other place
as state Govt. may in consultation with state commission, notify in the official Gazette,
from time to time.

(1) Section 17 (2) Section18 (3) . Section 17-B {4) Section 17-A
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(b) W w=m frmm fefies (BSNL)

(c) Wrea doea =R

(d) werrg w4 faem famor &, fefies (MSEDCL)
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* Which of the following services are not included within the meaning and definition of
“Service” given under Consumer Protection Act ?

Services given by :

(a) Private Tuition

{b) BSNL (Bharat Sanchar Nigam Ltd.)

(c) Free Medical Treatment

(d) MSEDCL - (Mah. State Electricity Distribution Co. Ltd.)
Answer options :

(1) (b)and (d) (2) (a) and (c}
(3) (), (c), and (d) (4) Al are included
-000-
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